Efficiency vs P,

- 0.1
= E : : :
£ 0.09F - P B
> E : : :
©'0.08F e R o S IR
L E : : :
8] - . . .
E0.0??"""""? """""" :' """" '. """"""
o E : : :
0.06f -+eeeseiesesnenenene SR T
0,08k -+ SN | S S—
0.04F -+ fromen R e
T R S A1) O | A

0.02f -+ P + | A
0.0+ eveeeeebereeeeieens ] -

1.0

Ratio

o
©
a

=
o
iN

1 10 . Gedf’

—=— DQM_mKFit_TT_base_noSel
—e— DQM_mKFit_TT_base_8iter_noSel
—— DQM_mKFit_TT_retrainOldFiles_v2_8iter2_noSel

=0.05
[
Q.045
2
$0.04
[S]
$.035
o
0.03
0.025

0.02
0.015

0.01 ,
0.005F -
oM.O:""'""""'i"""""""
g % :
o [

1_—---- k4. 4 4444 pes ¥ ) ) V-
09835 1T 0 T 2 3

Efficiency vs ¢

=0.02[r

0088t H - 00 (08 { RS SRR
0.008[| H-H 41+ B N B S M T
0.008[ {1+t L
0.004E 1t Tb ol L L
0.002F |-+ {4 ----- :

ull ] Al | ] ]




	Contents
	Page 1


